e ———

G ——

B BB ERNTEEFEMRA—RIBLERARESL
PR AR A R BT R mH|

#B D &%ite

g DI (42 88)

HAEEEIE
— ~ EEER] 100 4548 -

J—

———

WA~ (10 5)
FEstEHMEIR LR AT B B sTiaH ) 9 —F — & TRIeLER B3 3. 50 S TERVHRRS -
R (), 04 N -
(1) RIBELVE* (Chebyshey) TH - ZOELOLLOILL ERVES » K—RFMEHS
B 3. 38 A EE 3. 62 A w2 2 (5%)
(2) AR AE Sk (Chebyshev) EIHE - 93. T5%LL FHETESLES - H—&B TSI S B
#EEZRE LD ? (5%)

WAE- (10 4)
B FER R B X BB I T 5

X 0 1 2 4 5
Jx) a 2a 4a 2a° 6a*+a
AR P(X>2)

Q@RI PX<K)>23 Bz BNk B

W= (10 %)
KEPRETRFIERTOERTRITIGE/\R AR F LB E T E 7
HOMERACHA 0.999 B » 178 A JERYEE 4o 2 -

HAEw (20 o) |
A sample of 250 students majoring in business and a sample of 500 executive were asked to

respond to the question. Should corporations become more directly involved with social issues
such as homelessness, education, and drug?
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More Involved | Not More Involved Not Sure
Executives 345 135 20
Business students 222 20 8

(1) Conducta y* test of your null hypothesis. Use « = 0.05. And comment on the form of

any departure from the null hypothesis. (10%)
(2) Let p, be the proportion of executives who would answer “More involved,” and let p, be

the same probability for students. Test H,:p, = p, versus H,:p < p,.Use a=0.05.And

obtain a 95% confidence interval for the difference in proportion. (10%)
Zoor =233 Zyos =258 Z,5=1.645 Z,4. =1.96

11?;0.05 =3.84, Zzz,o.os =599, };’32,0‘05 =7.81

WA (30 4)
An experiment is conducted to determine how the strength y of plastic fiber depends on the size x

of the droplets of a mixing polymer in suspension. Data of (x, y) values, obtained from 15 runs of

the experiment, have yielded the following summary statistics.
¥=83, y=548, S,=56, 5, =-124, § =387.
(1) Obtain the equation of the least squares regression line . (10%)

(2) Test the significance of S (slope) © the null hypothesis H,: [ | > -2 versus

H,:f <-2,with a=0.05(10%)

(3) Estimate the expected fiber strength for droplet size x = 10 and set a 95%
confidence interval. (10%)

faoos =178, t300s =1.TTY, f1400s =1.761, f5405 =1.753,
Hiapos = 2.179, Hi00s = 2~:160> 0025 = 2.145, his o025 = 2.131,
X}z,o.os =3.84, Zie.as =5.99, Z§,0.05 =781

Fa,zs,o.os =2.95, E\,zs,o.os =271, F3,31,o.05 =291, F4,31,0.05 =2.68
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EHEAE 2002 FEAIA WTO 242 » AITEEIHRRERANRRAR  ELAEAEE - B
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A B C D
ER 12 (/MR ) 10 9 14
Z 15 12 9 15
A 11 8 10 12

1og2=0.3010 | Tooas(9)=2.262 | x%005(2)=5.99 | .x%0.05(2)=0.103 | Fo0s(9, 2)=19.38
Log3=0.473 To.025(10)=2.228 .x20,05(3 1815 | Foos(2,9)=4.26 | Fyes(9, 2)=39.39
T0‘05(10)21 812 T0,05(9)=1 833 .x2@,95(3)=0.352 F0_025(2,9)m5.71 F0_05(9, 3)“—“14.47
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z .00 .01 - .02 04 .05 06 07 08 09
0} 5000 5040 5080 5120 5160 5199 5239 5979 5319 .5359
A 5398 5438 5478 5517 5357 5506 5636 5675 5714 5753
2 5793 5832 5871 5910 5948 5087 6026  .6064 6103 6141
3] 6179 8217 6255 6293 6331 6368 6406 6443 6480 6517
4 | 6554 6591 6628 6664  .6700 6736 6772 6808 6844 6879
5 6915 6950 6985 7019 7054 7088 7123 7157 7190 7224
6 | 7257 7281 7324 7357 7389 7422 7454 7486 7517 7549
) 7380 7611 7842 7673 7703 7734 7764 7794 7873 7852
8 7881 7910 7939 7967  .7995 8023 8051 - 8078 8106 8133
] BI58 8186 8212 8238 8264 8280 8315 8340 8365 8389
1O | 8413 8438 8461 8485 8508 8531 8554 8577 8309 .862)

11 8643 8665 8686  .8708 8729 8749 8770 8700 8810 .8830

1.2 8840 8869 8888 8007  .8925 8044 8962 8080 8997 8015

1.3 9032 9049 0066 9082 9099 9115 9131 D147 9162 0177

14 9192 9207 9222 9236 9251 0265 9279 9292 9306 9319

1.5 9332 9345 9357 9370 9382 9394 9406 9418 9429  944)

16 | 9452 0463 9474 9484 9495 9505 9515 9525 D535 9545
L7 9554 9564 9573 9582 9501 9599 9608 9616 9625 9633
1.8 [ 8641 9649 9656 9664  .9671 9678 9686 9693 9699 9706
1.9 1 9713 9719 9726 9732 9738 9744 9750 9756 b761 9767

20 | 9772 9778 9783 9788 9793  ,9798 0803 0808 9812 9817

2.1 9821 9826 9830 . 9834 9838 9842 9846 0850  .9854 9857

22 | 9861 9864 9868 9871 875 9878 9881 5884 9887 9890

23 5893 9896 9898  .090] 8904 9906 9909 9911  .9913 9016

24 9918 9920 9922 9925 9927 9929  .993] 8932 9934 9936

25 ] 9938 9940 9941 9943 9945 - 9946  .0048 8948 995) 9952

26 1 9953 9955 9956 9957 9950  .9960 9961 9962 9963 9964

27 9965 9966. . 9967  9968. . 9969 9970 - .9971 0977 9973 9974

18 9974 9975 9976 9977 9977 9978 9979 0079  .998) 5981

29 1 9981 9982 9982 9983 9984 9984 9985 B985 9986  .9986

30 | 9987 9987 9987 9988 9988 9983 9989 9989 D98¢ 0890

3.1 9590 9991 9991 999} 9992 9992 9992 9992 9993 9993

32 9993 9993 9994 9994 9994 9994 9994 9995 5995 9995

33 9995 9995 9995 9996 9996  .9996 9996 999G 5096 9997

34 8997 9997 9997 9997 9997 9997  .9997 9997 5997 9998

3.3 9998 9998 9998 9998 9998 9098 9998 0098 5998 9uL8
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